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Topic 4 online test
Simplify each expression.

1) =5(9 + m) — 5m

3) —6(r+6) - 3r

5) 7(4a+ 10) - 5a

7) =9(-8x+2) - (5 - 10x)

9) —6(4r—3)=3(r-5)

11) —(10m —2) + 10(m + 8)

Evaluate each using the values given.

13) x—(x—y);usex:l,andy:—4

15) -5y —x;usex=4,and y=-6

1
17) (z—y)z; use y=2,and z = 1;
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2) 10 +3(9p-2)

4) —9r—10(8 - 67)

6) 10n—5(n +5)

8) —3(3n+3) +7(4n-2)
10) —9(a—5) — 8(4a +2)

12) 2(1 = 10n) + 3(1 + 7n)

14) -5p+q;use p=5,andg=1

16) p+m+5;usem=-5,and p=35

5 1
18) £+p;usep:—l—,andq:2—
q 6 2
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1) 45 — 10m
5) 23a+70
9) —27r+33
13) -4

4
17) —
)9
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Answers to Topic 4 online test

2) -16+27p
6) 5n—25
10) —41a+29
14) -24

18) —21/
30
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3) —9r-36
7) 82x—23
11) 82
15) 26
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4) 51r—280
8) 19n—23
12) 5+n
16) 4

Al gebra .



